337/Phil 22-23 /30618

B.A. Semester-II1 Examination, 2022-23

PHILOSOPHY [Programme]
Course ID : 30618 Course Code : AP/PHI/301/C-1C
Course Title : Deductive Logic (Western)

Time : 2 Hours Full Marks : 40
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.
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1. Answer any five of the following questions:
2x5=10

fsfeie @ Sl awig Teg e
a)  What is detective logic?

SRR IE FE A0 2

b)  What is contraposition?
AAE (P e 2

c) What is meant by distribution of a term in
proposition?
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d) What is empty class?
= e I A 2

e) If A,B=True(T), X,Y=False(F), then what is the
truth value of '(A.B) > (XVvY)'?
v A,B=219)(T), X,Y=M25I(F) 23, Wi
'(AB) D (X VY)' 97 o FI 2032

f)  What is meant by obversion?
e TeTce I RITE 2

g) Express the following in terms of Boolean

notations and then in terms of Venn diagrams—

"An ostrich can not fly".
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h)  What is categorical syllogism?
TR0 <11 I e 2

2. Answer any four of the following questions: 5x4=20
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a)  What is the fallacy of undistributed middle? Give

an example. 2+3=5
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b)  Explain with the help of an example why ‘O’

propositions cannot be converted. 5
YA AR TR T @ ‘O’ I TS AS]
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What is opposition of proposition? Explain
various types of opposition of proposition.

1+4=5
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State the rule or syllogism the violation of which

leads to existential fallacy. Explain the rule with

the help of a suitable example. 24+3=5
TR i 7= w169 0 SegeTs @7 222
O ToRIG TIZEIR AR AR 4 |

Use truth tables to determine whether the
following statement forms are tautologous, self

contradictory and contingent. 23+421=5
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iy pv[p(av~q)]
ii) P>(P.~P)
Test the validity of the following syllogistic form

by means of Venn Diagram: 5
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Answer any one of the following questions:

10x1=10
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3.
a)
b)
c)
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Explain fourfold scheme of categorical

proposition. 10
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What is meant by Existential import? Do all
categorical proposition have existential import?
3+7=10
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Discuss.

Use truth tables to determine whether the

following arguments are valid or not: 5+5=10

TeAIRA oimfed AR MEfiie Jewfs el um
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i) A>(BD)

BvD/..A>B

i1)  If Copernicus was right then Tolemy was
wrong. Tolemy was wrong. Therefore

Copernicus was right.
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